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JAMMU AND KASHMIR PUBLIC SERVICE COMMISSION

I RESHAM GHAR COLONY, BAKSHI NAGAR, JAMMU - 180016
(LD website: http:/jkpse.nic.in Jammu: 0191.2566533

o

Subject: Written Examination for the posts of Lecturer(s) [Persian, Statistics,
Functional English, Sanskrit, Punjabi and Music] in the School
~ Education Department - Provisional Answer Key(s) thereof.

Notification No. PSC/Exam/S/2025/36
Dated: 29.09.2025

In pursuance of Rule 10(c) of the Jammu & Kashmir Public Service Commission
(Conduct of Examination) Rules, 2022, as amended upto date, the Provisional Answer
Keys of Question Papers pertaining to the written examinations for the posts of
Lecturer(s) [Persian, Statistics, Functional English, Sanskrit, Punjabi and
Music] in School Education Department, held on 29.09.2025, are hereby notified
for seeking the objections from candidates.

Provisional Answer Key

(Persian)
Test Booklet Question No. Test Booklet Question No.—| Test Booklet Question No.
(Series A) (Series A) (Series A)
Q1 B Q12 B Q23 A
Q2 A Q13 C Q24 B
Q3 C Q14 A Q25 A
Q4 D Q15 A Q26 B
Q5 A Q16 D Q27 B
Q6 A Q17 B Q28 D
Q7 B Q18 A Q29 B
Q8 A Q19 A Q30 A
Q9 D Q20 C Q31 D
Q10 D Q21 A Q32 A
Q11 A Q22 | C Q33 B

Page 1 of9




Test Booklet Question No.

Test Booklet Question No.

Test Booklet Question No.

(Series A) (Series A) (Series A)
Q34 B Q57 c Q80 D
Q35 A Q58 € Q81 C
Q36 A Q59 B Q82 B
Q37 B Q60 A Q83 A
Q38 A Q61 C Q84 A
Q39 B Q62 A Q85 D
Q40 B Q63 A Q86 C
Q41 A Q64 B Q87 D
Q42 B Q65 C Q88 A
Q43 D Q66 o Q89 B
Q44 c Q67 B Q90 A
Q45 C Q68 A Q91 D
Q46 A Q69 D Q92 D
Q47 B Q70 C Q93 C
Q48 D Q71 B Q94 A
Q49 B Q72 D Q95 C
Q50 A Q73 5 Q96 D
Q51 C Q74 g Q97 A
Q52 A Q75 D Q98 B
Q53 D Q76 C Q99 o
Q54 D Q77 B Q100 (5
Q55 A Q78 D
Q56 C Q79 D
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Provisional Answer Key

(Statistics)
Test Booklet Question No. Test Booklet Question No. Test Booklet Question No.
(Series A) (Series A) (Series A)
Q1 A Q35 D Q69 <
Q2 B Q36 B Q70 B
Q3 B Q37 B Q71 B
Q4 C Q38 C Q72 A
Q5 D Q39 B Q73 o
Q6 A Q40 C Q74 D
Q7 B Q41 A Q75 B
Q8 A Q42 B Q76 B
Q9 C Q43 B Q77 A
Q10 D Q44 D Q78 D
Q11 A Q45 B Q79 C
Q12 C Q46 B Q80 B
Q13 D Q47 D Q81 A
Q14 B Q48 C Q82 D
Q15 A Q49 A Q83 C
Q16 B Q50 C Q84 C
Q17 A Q51 B Q85 B
Q18 B Q52 C Q86 B
Q19 D Q53 A Q87 B
Q20 A Q54 B Q88 D
Q21 A Q55 A Q89 B
Q22 C Q56 C Q90 C
Q23 B Q57 C Q91 B
Q24 A Q58 A Q92 D
Q25 C Q59 D Q93 B
Q26 A Q60 C Q94 A
Q27 A Q61 A Q95 C
Q28 A Q62 D Q96 A
Q29 B Q63 C Q97 C
Q30 A Q64 D Q98 D
Q31 B Q65 C Q99 B
Q32 B Q66 C Q100 C
Q33 C Q67 B
Q34 B Q68 A
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Provisional Answer Key
(Functional English)

Test Booklet Question No. Test Booklet Question No. Test Booklet Question No.
(Series A) (Series A) (Series A)
Q1 D Q35 A Q69 A
Q2 A Q36 Cc Q70 C
Q3 A Q37 C Q71 A
Q4 D Q38 B Q72 D
Q5 B Q39 A Q73 A
Q6 C Q40 C Q74 B
Q7 A Q41 B Q75 B
Q8 A Q42 B Q76 A
Q9 B Q43 C Q77 A
Q10 D Q44 D Q78 D
Q11 C Q45 A Q79 ¢
Q12 C Q46 B Q80 D
Q13 A Q47 B Q81 B
Q14 B Q48 A Q82 C
Q15 A Q49 A Q83 B
Q16 D Q50 A Q84 C
Q17 A Q51 B Q85 D
Q18 A Q52 A Q86 C
Q19 A Q53 B Q87 B
Q20 D Q54 C Qss B
Q21 B Q55 B Q89 D
Q22 A Q56 C QS0 B
Q23 A Q57 D Q91 C
Q24 B Q58 D Q92 A
Q25 B Q59 B Q93 C
Q26 A Q60 B Q94 A
Q27 B Q61 D Q95 A
Q28 C Q62 A Q96 A
Q29 (0 Q63 B Q97 B
Q30 D Q64 A Q98 D
Q31 C Q65 C Q99 B
Q32 C Q66 D Q100 B
Q33 B Q67 A
Q34 D Q68 C
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Provisional Answer Key

(Sanskrit)
Test Booklet Question No. Test Booklet Question No. Test Booklet Question No.
(Series A) (Series A) (Series A)
Q1 C Q35 D Q69 D
Q2 B Q36 A Q70 B
Q3 A Q37 D Q71 B
Q4 A Q38 B Q72 D
Q5 C Q39 A Q73 (o
Q6 D Q40 A Q74 D
Q7 A Q41 B Q75 D
Q8 C Q42 A Q76 C
Q9 B Q43 C Q77 A
Q10 C Q44 D Q78 B
Q11 C Q45 B Q79 C
Q12 D Q46 A Q80 D
Q13 D Q47 D Q81 Cc
Q14 A Q48 B Q82 D - ]
Q15 C Q49 D Q83 C
Q16 B Q50 c Q84 A
Q17 D Q51 A Q85 C
Q18 A Q52 B Q86 B
Q19 o Q53 D Q87 A
Q20 A Q54 C Q88 B
Q21 C Q55 A Q89 D
Q22 C Q56 B Q90 A
Q23 A Q57 C Q91 B
Q24 C Q58 D Q92 D
Q25 D Q59 C Q93 C
Q26 C Q60 D Q94 B pdd
Q27 A Q61 B Q95 D
Q28 D Q62 C Q96 A
Q29 B Q63 A Q97 C
Q30 C Q64 B Q98 B
Q31 A Q65 C Q99 D
Q32 D Q66 A Q100 D
Q33 B Q67 B
Q34 C Q68 C
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Provisional Answer Key

(Punjabi)
Test Booklet Question No. Test Booklet Question No. Test Booklet Question No.
(Series A) (Series A) (Series A)
Q1 D Q35 B Q69 D
Q2 A Q36 A Q70 C
Q3 B Q37 D Q71 C
Q4 A Q38 D Q72 B
Q5 C Q39 B Q73 B
Q6 . Q40 D Q74 C
Q7 D Q41 B Q75 C
Q8 A Q42 D Q76 D
Q9 D Q43 A Q77 C
Q10 C Q44 A Q78 B
Q11 C Q45 C Q79 D
Q12 A Q46 B Q80 A
Q13 B Q47 A Q81 B
Q14 D Q48 D Q82 B
Q15 C Q49 C Q83 A
Q16 A Q50 A Q84 D
Q17 A Q51 o Q85 D
Q18 D Q52 A Q86 B
Q19 C Q53 B Q87 C
Q20 C Q54 D Q88 B
Q21 A Q55 C Q89 C
Q22 A Q56 D Q90 B
Q23 C Q57 C Q91 D
Q24 B Q58 D Q92 D
Q25 A Q59 A Q93 D
Q26 B Q60 A Q94 C
Q27 A Q61 C Q95 D
Q28 B Q62 B Q96 B
Q29 A Q63 D Q97 B
Q30 C Q64 C Q98 A
Q31 D Q65 B Q99 D
Q32 A Q66 D Q100 C
Q33 (o Q67 B
Q34 C Q68 C
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Provisional Answer Key

(Music)
Test Booklet Question No. Test Booklet Question No. Test Booklet Question No.
(Series A) (Series A) (Series A)

Q1 C Q35 C Q69 B
Q2 B Q36 C Q70 D
Q3 D Q37 D Q71 A
Q4 B Q38 B Q72 D
Q5 D Q39 A Q73 C
Q6 D Q40 A Q74 D
Q7 A Q41 C Q75 A
Q8 B Q42 D Q76 B
Q9 A Q43 C Q77 B
Q10 C Q44 C Q78 C
Q11 D Q45 C Q79 C
Q12 C Q46 c Q80 A
Q13 B Q47 B Q81 B
Q14 B Q48 D Q82 B
Q15 B Q49 B Q83 C
Q16 C Q50 B Q84 C
Q17 C Q51 C Q85 B
Q18 C Q52 B Q86 A
Q19 D Q53 A Q87 C
Q20 C Q54 A Q88 A
Q21 B Q55 B Q89 C
Q22 c Q56 C Q90 B
Q23 B Q57 C Q91 D
Q24 C Q58 B Q92 C
Q25 C Q59 B Q93 D
Q26 B Q60 D Q94 B
Q27 B Q61 C Q95 D
Q28 C Q62 D Q96 C
Q29 D Q63 C Q97 D
Q30 C Q64 B Q98 D
Q31 C Q65 C Q99 B
Q32 D Q66 B Q100 C

Q33 B Q67 D

Q34 c | Q68 C
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The candidates are advised to refer to Question Booklet (Series A) to match
the corresponding question(s) in their respective Question Booklet Series and if any
candidate feels that the key to any of the question(s) is/are wrong, he/she may represent
on prescribed format/proforma annexed as Annexure-A along with the documentary
proof/evidence (hard copies only) and fee of Rs.500/- per question in the form of
Demand Draft drawn in favour of COE, J&K PSC (refundable in case of genuine/correct
representation) to the Controller of Examinations, Jammu & Kashmir Public Service
Commission, from Tuesday i.e. 30.09.2025 to 06.10.2025. The candidates are further
advised to clearly mention the question(s) objected to with reference to its
serial number as it appears in the Question Booklet of Series A of the
provisional answer key(s).

Any objection/application not accompanied by the requisite Demand Draft of
Rs.500/- as prescribed, shall not be considered/entertained under any circumstances.
Candidates are, in their own interest, advised to adhere to these instructions and not
submit any objection unaccompanied by the Demand Draft as required under extant
rules. The Commission shall not entertain any such representation(s) after the expiry of
the stipulated period i.e. after 06.10.2025 (Monday), 05.00 pm.

Further, objection(s) submitted in any other mode will not be entertained.

The provisional answer key(s) are also available on the website of the Commission
http://www.jkpsc.nic.in.

(Sachin Jamwal) JKAS
Controller of Examinations
J&K Public Service Commission
_ A58
No. PSC/Ex-Secy/2025/21 Dated: 29.09.2025
Copy to the: -
1. Director, Information and Public Relations, J&K for publication of the notice in all
leading newspapers published from Jammu/Srinagar.
2. P.S. to Hon'ble Chairman, J&K Public Service Commission for information of the
Hon'ble Chairman.
3. P.S. to Hon'ble Member, Shri for information of the
Hon’ble Member.
P. A. to Secretary, J&K Public Service Commission for information of the Secretary.
Main file/Stock file/Notice Board.

o
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Annexure-A

Representation regarding objection(s) to any Question/Answer pertaining to
the Written Examination conducted for the posts of Lecturer(s) [Persian,
Statistics, Functional English, Sanskrit, Punjabi and Music) in School
Education Department held on 29.09.2025 (Afternoon Session).

(NOTE: USE SEPARATE FORMS FOR SEPARATE QUESTIONS)

Discipline:

Name of the Applicant:
Roll No. :

Correspondence Address :
Contact/Mobile No. :
Date of Application: 2025

Demand Draft Details: No. Date Amount,
Candidates Account No.(16 digit) & IFSC Code :

Question Details of the Objection Resource Material | Details of the
No. in (copy to be Website
Series A enclosed) (if any)

Correct Answer/Option as per candidate :

Signature of the Candidate

Note : Application for each question/answer shall be made on separate page in the
given format, otherwise the first question entered in the format shall only be
considered.
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

Booklet Serial No. 4 1(0 53 Test Booklet Series

TEST BOOKLET
LECTURER - (10+2)
PERSIAN
WRITTEN TEST - 2025

(66)

Time Allowed: Two Hours Maximum Marks:|100

11.

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKILET.
Please note that it is the candidate’s responsibility to encode and fill in the Roll Numpber
and Test Booklet Series Code A, B, C or D carefully and without any omission or discrepfincy
at the appropriate places in the OMR Answer /Response Sheet. Any omission/discrepfincy
will render the Response Sheet liable for rejection.
You have to enter your Roll Number on the
Test Booklet in the Box provided alongside.
DO NOT write anything else on the Test Booklet.
This Test booklet contains 100 items (questions). Each item comprises of four responses (answfers).
You will select the response which you want to mark on the Answer Sheet/Response Sheet. Infcase
you feel that there is more than one correct response, mark the response which you conside} the
best. In any case, choose ONLY ONE response for each item.
You have to mark all your responses ONLY on the separate Answer /Response Sheet provided| See
directions in the Response Sheet,
All items carry equal marks.
Before you proceed to mark in the Answer /Response Sheet, the response to various items i1} the
Test Booklet, you have to fill in some particulars in the Answer /Response Sheet as per instrucfions
sent to you with your Admission Certificate.
After you have completed filling in all your responses on the Response Sheet and the examindtion
has concluded, you should hand over to the Invigilator only the Answer /Response Sheet. Yo\ are
permitted to take away with you the Test Booklet and Candidate’s Copy of the Response Shpet .
Sheets for rough work are appended in the Test Booklet at the end.
While writing Centre, Subject and Roll No. on the top of the Answer Sheet/Response Shegt in
appropriate boxes use “ONLY BALL POINT PEN™.
Penalty for wrong answers:
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY THE
CANDIDATE IN THE WRITTEN TEST (OBJECTIVE TYPE QUESTIONS PAPERS$).
(i)  There are four alternatives for the answer to every question. For each question for whith a
wrong answer has been given by the candidate, (0.25) of the marks assigned to that quegtion
will be deducted as penalty.
(i)  Ifacandidate gives more than one answer, it will be treated as a wrong answer even if one of the
given answers happens to be correct and there will be same penalty as above for that questidn.
(i)  Ifaquestion is left blank, i.e., no answer is given by the candidate, there will be no penalty for
that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD 10 DO S0
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DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD 70 DO SO

Booklet Serial No. 3 _I [; 2 O Y

TEST BOOKLET
LECTURER - (10+2)
STATISTICS
WRITTEN TEST - 2025

(72)

Time Allowed: Two Hours Maximum Marks: 100

11.

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOYLD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN|OR
MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.
Please note that it is the candidate’s responsibility to encode and fill in the Roll ngber

and Test Booklet Series Code A, B, C or D carefully and without any omission or discrepancy
at the appropriate places in the OMR Answer /Response Sheet. Any omission/discrepgncy
will render the Response Sheet liable for rejection.
You have to enter your Roll Number on the
Test Booklet in the Box provided alongside.
DO NOT write anything else on the Test Booklet.
This Test booklet contains 100 items (questions). Each item comprises of four responses (answgrs).
You will select the response which you want to mark on the Answer Sheet/Response Sheet. In pase
you feel that there is more than one correct response, mark the response which you considet the
best. In any case, choose ONLY ONE response for each item.
You have to mark all your responses ONLY on the separate Answer /Response Sheet provided{ See
directions in the Response Sheet.
All items carry equal marks.
Before you proceed to mark in the Answer /Response Sheet, the response to various items i the
Test Booklet, you have to fill in some particulars in the Answer /Response Sheet as per instrucfions
sent to you with your Admission Certificate.
After you have completed filling in all your responses on the Response Sheet and the examingtion
has concluded, you should hand over to the Invigilator only the Answer /Response Sheet. Yoy are
permitted to take away with you the Test Booklet and Candidate’s Copy of the Response SHeet .
Sheets for rough work are appended in the Test Booklet at the end.
While writing Centre, Subject and Roll No. on the top of the Answer Sheet/Response Shept in
appropriate boxes use “ONLY BALL POINT PEN”.
Penalty for wrong answers:
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY THE
CANDIDATE IN THE WRITTEN TEST (OBJECTIVE TYPE QUESTIONS PAPERS).
(i)  There are four alternatives for the answer to every question. For each question for which a
wrong answer has been given by the candidate, (0.25) of the marks assigned to that queption
will be deducted as penalty.
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1. Which of the following measures of central tendency is affected by the existencg of
extreme values in a dataset?

A) Mean
B) Median
C) Mode

D) None ofthe above

2. Mean deviation is least when measured about which measure of central tendency?

A) Mean
B) Median
C) Mode

D) Harmonic Mean

3.  The coefficient of variation (CV) expresses
A) the mean as a percentage of the standard deviation.
B) the standard deviation as a percentage of the mean.
C) the mean deviation as a percentage of the mean.
D) the variance as a percentage of the mean.

4. Two tea testers were asked to rank five varieties of tea from best to worst
(rank 1 = best, rank 5 = worst) with respect to certain characteristics. Their rankingp are

Tea Variety 1 2 3 4 5

'Rank by Tester 1 5 2 4 1 3

Rank by Tester 2 3 1 5 2 s

Which among the following is the appropriate correlation coefficient to compute iﬁ this
example?

A) Karl Pearson’s Correlation Coefficient
B) Correlation Ratio

C) Spearman’s Rank Correlation Coeflicient
D) Intra Class Correlation

5.  Which of the following statements are correct?

i)  Ifr=0, where r is the correlation coefficient between two variables X and Y, the
two lines of regression coincide.

ii) Regression coefficients are independent of change of origin and scale.
A) Both (i) and (i1)
B) Only (i)
C) Only (ii)
D) Neither (i) nor (ii)

6. Inhypothesis testing, Type I error occurs when
A) the null hypothesis is rejected when it is true.
B) the null hypothesis is rejected when it is false.
C) the null hypothesis is accepted when it is false.
D) the alternate hypothesis is rejected when it is false.

(72) (A) 3) [P{T.0.




7. Let x,x,,....x, be arandom sample from a large population with mean p and variance

o2 . If s* is the sample variance, then which of the following is true?

A)

B)

0

D)

8. InaChi-square test for independence between education level (3 categories) and type of
employment (2 categories), the p value lies between 0.01 and 0.05. Which of'the following
statements regarding the conclusion is correct?

A) Education level and type of employment are not independent at 5 % level of
significance.
B) Education level and type of employment are independent at 5 % level of significance.
C) Education level and type of employment are not independent at 1 % level of
significance.
D) None of'the above.
9. Inwhich of the following situations is a two-tailed test of significance more appropriate?
A) Totestifanew drug that reduces blood pressure is better as compared to a standard
existing one.
B) To test if a new teaching method improves scores of students over the current
method.
C) To testif the mean weight of a population is different from 70 kg.
D) To testif the average delivery time of orders is less than 3 days.
10. 'Which of'the following non-parametric test is appropriate for comparing two independent
samples?
A) Paired t-test
B) ANOVA
C) Wilcoxon signed-rank test
D) Mann-Whitney U test

11. The points of inflexion of a normally distributed variable N(u,c*) are,

A)
B)
0)
D)

(72) (A)

HEGC
Ulo

HO
Points of inflexion does not exist for a normal distribution.
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12.

13.

14.

15.

The equation of the line of regression of a variable X on another variab
(in usual notations) can be written as,

A)  H-E= £(Y-»)

B) X—EZFJ—(Y_?)

e 5t
C) X—x:rJ(Y—y)

p) Y-Y=r—=(X-X)

If X, and X, are two independent chi square variables with n, and n, degrees of freg

X
respectively, then their ratio x—l follows which of the following distributions?
2

A) 'Zz{”l +ny)
B) Zz{n]}’nz}
O  Bn,n)

non

1 1
Two players A and B have probabilities 7 and 3 respectively to win a race. What

probability that neither will win?

N
B) >
0
D) 3

If A and B are any two events, then by the Theorem of Compound Probability,
A) P(AB)=P(B)P(A/B)

B) P(AB)=P(A)+P(B)
C) P(AUB)=P(A)+P(B)
D) P(AB)>P(A)+P(B)

o Y/

dom

s the

(72) (A) (%) [P|T.O.




16.

1 b7

18.

19.

Let X and Y be two random variables such that E(XY)-E(X)E(Y)=0. What can be
concluded about X and Y?

(i) They are independently distributed.

(i1) They are notindependently distributed.

(iii) They are linearly related.

(iv) They are not linearly related.

Choose the correct answer using the Code given below :
A) (i)and (iv)

B) (iv)only

C) (ii)and(iv)

D) (i) and (ii1)

For the normal distribution, the quartile deviation, the mean deviation and the standard
deviation are approximately in the ratio

A) 10:12: 15
By 12:10: 15
@F 15:12:10
D)y 10:15:12

Let X, X, be arandom sample from N(0,1) and Y, and Y, another random sample from a
different distribution which is N(1,1). The distribution of (X +7) is

A) %" with 2 degrees of freedom

B) N(1,1)
C) N(0,1)
D) F(l,1)

If X ~Binomial (6,p) and the following relation holds with respect to
X, 9 P(X=4)=P(X=2), the value of p is

1 1
A) Either 50y

4
1
B) 5
o
1
D) 7
(72) (A) (6)




20.

21.

22,

23.

24.

If the number of typing errors follows a Poisson distribution with average numb
typing errors per page being 3, the probability thata randomly selected page has ex
2 errors 1S

o
op=
) 2229.!'3
m 2

er of
ctly

Let X,Y, Z be independent and identically distributed N(0, o) variates. The distribytion

of the variable defined as T = LY}- is
J(z2+7?)

A) Lo

B) N(0,2,6%)

Q)

D) N(0,I)

If F ~ F(m,n), then as n tends to infinity, the distribution of (mF) tends to
A) N(0,1)

B) tdistribution with n degrees of freedom

C) Chisquare distribution with m degrees of freedom

D) F(l,1)

The memoryless property is a unique characteristic of which of the folloying

distributions?

A)  Weibull Distribution

B) Exponential Distribution
C) Gamma Distribution

D) Lognormal Distribution

If X ~ Lognormal (,u,oz) , then which of the following is true?

A)  log(X)~ N(x,0%)
B) X~N(uo)

C) log(X)~ Exponential ()

D) log(X)~ Gamma(x,0)

(72) (A) ) [P.

T.0.




25. For which of the following distributions moment generating function does not exist?
A) Binomial distribution
B) Gamma distribution
C) t-distribution
D) Exponential distribution

26. Let X, X,,X,,.....X, bearandom sample from a distribution with the following p.d.f
f(x:60)=(0+1)x"0<x<1,6>0

Which of the following is a consistent estimator of 9?2 (X is the sample mean).

A) 2{2—_{__
O T
D) %

27. Which ofthe following statements is TRUE about Minimum Variance Unbiased Estimator
(MVUE) and Minimum Variance Bound Estimator (MVBE) for estimating an unknown
parameters, say g7
A) MVUE and MVBE are same, if the MVBE exists.

B) IfMVUE exists, MVBE also exists.

C) Evenif MVBE exists, its variance can be sometimes higher than that of the MVUE.

D) Ifregularity conditions underlying the Cramer - Rao inequality hold, MVBE can
always be obtained.

28. Which of the following statements is/ are TRUE about the Method of Moments (MoM)

estimators?

(i) Ifthe likelihood equation is expressible as a linear function of sample moments,
MoM estimators are identical to the Maximum Likelihood Estimators.

(ii) MoM estimator always exists.

(iii) MoM estimators are, in general, consistent.

(iv) MoM estimators are asymptotically normally distributed (under some basic
assumptions).

Choose the correct statement(s) using the code given below :

A) (i), (ii) and (iv)

B) (i)and(iv)

C) (iii)and (iv)

D) (iii) only

(72) (A) )




29

30.

31.

32,

33

(72) (A) ® [P

When is a hypothesis test, or the corresponding critical re gion, called unbiased?
A) When the null hypothesis (H,) is accepted. <l !

B) When power of the test is greater than the size of the critical region.

C) When the size of type - I error is equal to the size of type - II error.

D) When the null hypothesis (H,) is rejected.

Let X, X,,X,,....... X, be a random sample from Binomial (m,p) distribution, where

m is known and p is unknown. The Maximum Likelihood Estimate (MLE) of Jrd-p)

187

A)

3 |5

5

B) X(1-X)

o EE

D) I (-XX)

If T, is a Minimum Variance Unbiased estimator of y (@) and T, is any other unbjiased

estimator of y (&) with efficiency e, then the correlation coefficient between T, a
is given by

A) - p=e

B) p=+e

C) p=ve

D) p=+l/e

Which of'the following statements best describes the Neyman-Pearson Lemma?

A) Ttprovides a method to construct confidence intervals with the shortest width.

nd T,

B) Itstates that the likelihood ratio test is the uniformly most powerful test for tgsting

a simple null against a simple alternative hypothesis.

C) It guarantees that the p - value is always less than the significance level in any test.

D) None ofthe above.

The total number of samples of size 2 that can be drawn from a population of size 4
with replacement is

A 2
B) 4
Q) 10
D) 6

units

T.O.




34. Ifthepopulation Y,,i=1,2,.......... , k consists ofa linear trends, then which of the following

relations (approx) between stratified (st), systematic (syst) and simple random sampling
(sts) is correct?

A)
B)

0)
D)

Variance (J_/'ﬂ) > Variance ()-’J- .sys.r) > Variance (-]_’,srs)
Variance (7,) < Variance (¥,,,) < Variance (7,,)

Variance (y,) = Variance (¥,,,,) = Variance (y,,)

None of the above

35. If, under simple random sampling without replacement (srswor), V(7,,,) =25 and under

stratified random sampling (with proportional allocation), V(7,)=20, then gain in

efficiency due to stratified random sampling (with proportional allocation) over srswor

15

A)
B)
9
D)

80%
40%
100%
25%

36. The ratio estimator 7, is an unbiased estimator of the population mean y if

A)
B)

0
D)

Y and X (the auxiliary variable) are not correlated.

Y and X (the auxiliary variable) are linearly related by a relationship of the form
Y-—0x

Y and X (the auxiliary variable) are not linearly related.

None of the above as the ratio estimator is always biased.

37. The regression estimator is always more efficient than the ratio estimator (to the first
order of approximation) unless

A)
B)

©)

D)

(72) (A)

Y (the characteristic under study) and X (the auxiliary variable) are not correlated.

the relationship between Y (the characteristic under study) and X
(the auxiliary variable) is linear and passing through the origin, in which case both
are equally efficient.

Y (the characteristic under study) and X (the auxiliary variable) are not linearly
related.

None of the above.

(10)



38.

39.

40.

41.

42.

Consider the following statements about systematic sampling:

i) A systematic sample does not yield good results if units at regular intervals are

uncorrelated.
ii) Efficiency of systematic sampling in case of populations with periodic var

fation

depends on choice of interval between successive units to be included in the sapple.

Which of the above statements is/are NOT TRUE?
A) Both (i) and (i1)

B) Neither (i) nor (i1)

C) Only(i)

D) Only (ii)

Suppose we are interested in obtaining information on income of individuals ina city. To

obtain sample data, the entire city is divided into N blocks or localities and a s
random sample of n blocks is drawn. The individuals in the selected blocks form

A) the stratified sample.
B) the cluster sample.

C) the systematic sample.
D) the quota sample.

A population of size 720 was divided into 3 strata. Sample sizes of 30, 20 and 10

mple

are to

be drawn from each of the three strata respectively using proportional allocatior]. The

strata sizes are respectively,

A) (300, 200, 100)

B) (120, 240, 360)

C) (360, 240, 120)

D) Cannotbe determined with the given information

Which of the following is an example of a non-sampling error?

A) Interviewer recording incorrect responses.

B) Choosing a simple random sample instead of stratified sampling.
C) Using too small a sample size.

D) Faulty selection of the sample.

A population has 3 units with values : y, = 10, y, = 20, y,=30 and inclusion probabi
7, =02,7,=03, 7;=0.5.

If a sample includes units 1 and 3, the Horvitz - Thompson estimate of the popu
total is

A) 80
B) 110
&) 170
D) 40

lities:

ation

(72) (A) (11) [P{T.O.




43.

44,

45.

46.

47.

A p dimensional random vector X=(X,,X,,........X,)" is said to follow a multivariate
normal distribution with mean vector # and covariance matrix ¥ if’:

A)  The components X''s are always independent.

B) Every linear combination of the components is normally distributed.

C) The components X''s are uncorrelated

D) All marginal distributions are identical.

For a random vector X following a multivariate normal distribution, X ~ N _(z,Y), the
covariance matrix ¥ must be :

A) diagonal only.

B) singular.

C) orthogonal

D) symmetric and positive definite (or positive semi - definite)

Consider a random vector X ~ N(0,1), where I_is the nxn identity matrix. The quadratic
form X'AX ~ »*(k) if and only if the matrix A is :

A) Symmetric and has rank k.

B) Idempotent and symmetric with rank k.

C) Positive definite with rank k.

D) Orthogonal and symmetric.

If X,,X,.,....X, are independent p dimensional random vectors from a multivariate
normal distribution with scale matrix ¥, which of the following statements about the
Wishart distribution W, (n,2), is correct?

A) The Wishartdistribution is defined only for n>p.

B) The expected value of a Wishart - distributed matrix is n 2.

C) The determination of a Wishart - distributed matrix always follows a gamma
distribution.

D) The Wishartdistribution is not related to multivariate normal samples.

The test statistic for testing H, : pxy.z =0 (pXxv.z is the partial correlation coefficient,

nis the number of observations on each variable and k is the number of variables controlled
for) is given by:

A) A t-statistic witﬁ (n—2) degrees of freedom.

B) AnF-statistic with 1 and (n — k —1) degrees of freedom.
C) A chi - square statistic with k degrees of freedom.

D) A t-statistic with (n—k —2) degrees of freedom.

(72) (A) (12)




48.

49.

50.

Which of the following best describes the use of Hotelling’s T? test when comparing two

multivariate normal populations with equal covariance matrices?

A) It tests whether the populations have equal variances.

B) Ittests whether the two populations have the same covariance matrix.
C) Ittests whether the mean vectors of the two populations are equal.
D) Ittests whether the populations are normally distributed.

Let X be a data matrix with n observations and p variables. What is the maximum nufnber

of principal components that can be extracted?

A) Min(n,p)
B) p

C) n+p

B n

In a one-way MANO VA with g groups and p response variables, the null hypothesis tgsted

18:

A) Allresponse variables have equal means.

B) All groups have equal univariate variances.

C) The group mean vectors are equal across all groups.
D) Each variable contributes equally to group separation.

51. While solving a linear programming problem, ifin the simplex table, a slack variablefhas
a positive value in the optimal solution, what does it imply?
A) The corresponding constraint is binding.
B) The resource associated with the corresponding constraint is not fully utilized.
C) The objective function is unbounded.
D) The problem is degenerate.
52. According to the Extreme Point Theorem in linear programming:
A) Every linear programming problem has exactly one extreme point.
B) The optimal solution of a linear programming problem, if it exists, is always at fhe
center of the feasible region.
C) The optimal solution, if it exists and is bounded, is attained at an extreme poin{ of
the feasible region.
D) The optimal solution always lies in the interior of the feasible region.
53. In the context of the simplex method of solving linear programming prob]elﬁs,
a degenerate solution occurs when:
A) A basic variable takes the value zero.
B) The objective function is unbounded.
C) There are more constraints than variables.
D) The dual problem hasno solution.
(72) (A) (13) [P.T.‘}).




54.

55.

56.

B

58.

For a maximization linear programming problem, the objective function coefficient for
an artificial variable is

A) M
B) M
) =kl
D)) Zero

For any primal linear programming problem and its dual, which of the following is true?

A) The optimum value of the objective function is same for both the primal and the
dual problem.

B) Only the primal problem can be solved.
C) The optimum value of the objective function is always different for both.
D) None ofthe above.

Which of the following statements are correct regarding transportation problems?
i) A transportation problem is a special case of linear programming problem.

i) A necessary and sufficient condition for the existence of a feasible solution to the
general transportation problem is that Total supply = Total Demand.

A) Only (i)

B) Only (i)

C) Both (i) and (ii)
D) Neither (i) nor (i)

In an unbalanced assignment problem, the number of activities does not match the number
of resources. How is such a problem typically handled?

A) By reducing the size of the problem to match the smaller set.
B) By using only the Hungarian method without modifications.
C) Byadding dummy rows or columns to make it a square matrix.

D) By deleting the excess activities or resources whichever is the case in order to
balance the problem.

The probability of accepting a bad lot is known as
A) Consumer's risk

B) Producer's risk

C) Typelerror

D) None ofthe above

(72) (A) (14)
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60.

61.

62.

63.

Which of the following patterns on an X - chart suggests a systematic shift in the prpcess

mean?

A) Points alternating above and below the center line.

B) A single large spike followed by stable points.

C) Random scattering of points within control limits.

D) A run of 7 or more consecutive points on one side of the center line.

The control chart that applies for number of defects per unit is

A) Xchart
B) pchart
C) cchart
D) Rchart

The ideal temperature of a room in a hospital where a patient rests should be bety
5°C (Lower Specification Limit - LSL) and 20°C (Upper Specification Limit - LS

the mean temperature of a room in the hospital is 14°C (,u) with a standard deviatid

2°C (o), the formula to compute the process capability index (&) is

. (USL—pu pu-LSL
C._ = :
A) i mm[ 3o 3o ]
L (USL—pu LSL-—,U)
C . =min 5
B) £ [ 3o 3o

u—USL u—LSL
3¢ ' 3a

C) Cu= min(
D) C,; cannot be computed with the given information

For a two-variable linear regression model, with one dependent variable and
independent variable, the coefficient of determination is equal to?

A) Bivariate correlation coefficient between the two variables.

B) Mean error sum of squares.

C)  Error sum of squares.

D) Square of the bivariate correlation coefficient between the two variables.

een
) 0E

n of

D1Ne

Which of the following is not a necessary assumption in the Gauss-Markov theorem |for

the ordinary least square estimator to be BLUE (Best Linear Unbiased Estimator)?
A) Linearity in parameters.

B) Homoscedasticity of error terms.
C) Normality of the error terms.

D) Zero mean of the error terms.

(72) (A) (15) [P.T.O.
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66.

67.

In a simple linear regression model :
y, =B, +BX; + &, i=1,2,.....n, & ~ N(0,0%)

Which of the following is the unbiased estimator of the error variance 5> ?

A) 6_2:2:':]()/1_);1')-

h

B) &2:21':1(-})1'—}’:‘!')

n—1

o) STy

n—2

D) &%= Dilti=5)

n—2

Which of the following statements is true about a polynomial regression model?

A) Itis anonlinear model in parameters.

B) Italways fits the data better than linear regression, regardless of degree.

C) [Itisalinear model in parameters, though it includes powers of the predictor.

D) Theparameters of the model cannot be estimated using ordinary least squares (OLS).

What is the primary purpose of including a covariate in an Analysis of Covariance
(ANOCOVA)?

A) Toreduce the sample size.
B) Toeliminate the need for randomization.

C) To adjust for the effect of a covariate that cannot be controlled but can be observed
along with the dependent variable.

D) To testinteractions between independent variables.

Which of the following statistics or plots are most commonly used to identify outliers
in regression analysis?

(1) Residual plots

(i1) Normal probability plots

(iii) Studentized residuals

(iv) Adjusted R?

Choose the correct ansiver(s) using the code given below :
A) (i) and (ii) only.

B) (i), (ii) and (iii).

C) (i) and (iii) only.

D) (i), (i1), (iii) and (iv).

(72) (A) (16)




68. Suppose you fit a simple linear regression model :
y=P, tPx+e
You get an estimate :[3] — 2.5 with a standard error of 0.5. What is the test statistjc for

testing H, : B, =0 at 5% level of significance?

A) 5.0
B) 2.0
¢y 125
D) 0.2

69. Which of the following residual patterns most strongly indicates that a linear model is
not appropriate for the data?
A) Random scatter of residuals around zero.
B) A funnel (widening) shape of residuals as fitted values increase.
C) A curved or systematic pattern in residuals.
D) Residuals mostly having values between —2 and +2.

70. InaMarkov chain, a state is said to be recurrent if :
A) Itis visited only once with probability 1.
B) Returning to the state eventually is certain.
C) The number of visits to the state is finite.
D) Itis never visited again once left.

71. Which of the following best describes an ergodic state in a Markov chain?
A) Itistransient and periodic.
B) Itisrecurrent, non-null and aperiodic.
C) Itcan only be reached from itself.
D) It is unreachable from other states.

72. Inanirreducible chain,
A)  All the states are of the same type.
B) All the states are different.
C) Some states are transient and some are aperiodic.
D) None of the above.

73. Let P™(j, j) be the n-step transition probability in a time - homogeneous Markov chgin.

The Chapman-Kolmogorov equation expresses P*"(;, ;) in terms of intermediate stgps.
Which of the following correctly states the Chapman-Kolmogorov equation?

A)  PUG, f)= PO j)POG, )
B) PS¢ N=POG NP6
C)  P™™(i, j) =%, P™i,k).P™ (k, )
D)= i, )= PRCypE )

(72) (A) (17) [P.T.0O.
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74. Given the transition matrix p =
0.2 0.8

], which of the following is the stationary

distribution of 7 =(7,,7,)?
| 0 |

ARG
a2

B (53

P

Gl lars
s

D a g

75. Ifthe arrival process follows a Poisson distribution with mean arrival rate 2, then the
inter - arrival time follows which distribution?
A) Poisson with mean j
B) Exponential withmean 1/ 2
C) Truncated Poisson with mean 2
D) Exponential with mean j

76. Inqueuing theory, when there are more than one server, customer behavior in which they
move from one queue to another is known as

A) Balking
B) Jockeying
C) Reneging

D) Alternating

77. 1fN (t) is a Poisson process then the auto - correlation coefficient between N(t) and
N(t+s) is

|
o (2]

o (32
o (2]

(72) (A) (18)
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79,

80.

81.

82.

(72) (A) (19) [P.T)

In a Galton-Watson branching process, let the number of offspring per individual b

ca

random variable with mean x . Which of the following statements about the probability

of ultimate extinction q is always true?
A) If u>1,thenq=0
B) If u=1,thenq=0
C) If u>1,thenq=1
D) If g<i,thenq=1

A country records 25 maternal deaths per 1,00,000 live births per year. This statisjic is

an example of a:
A) Ratio

B) Proportion
C) Rate

D) Frequency

Which of the following statements is correct?

A) A stable population is always stationary but a stationary population is never stflble.
ary.

B) Astationary population is always stable but a stable population need not be statio

C) Astationary population is never stable but a stable population must be stationgry.

D) None ofthe above.

Relation between force of mortality at age x(x,) and central mortality rate (2 ) is given

by

Ay T
B) mﬂ % = H,
) P e s
D 21

What does the Infant Mortality Rate (IMR) measure?

A) The number of children who die before age 5 per 1,000 births.
B) The percentage of stillbirths in a population.

C) The number of neonatal deaths per 100 live births.

D) The number of deaths of infants under one year of age per 1,000 live births i
year.

[l d




83.

84.

85.

86.

87.

Pearl's Vital Index, which is an indicator of population growth can be expressed as

Number of births in the given period £

A) e : : 100
Total population in the given period t

B) Number of ‘ dt?arias ‘:'n the g.:'ven per.iod 100
Number of births in the given period (
Crude Birth Rate

Q) x100
Crude Death Rate
Crude Death Rate

D) : x100
Crude Birth Rate

Which of the following statements about intercensal estimates is correct?
A) Intercensal estimates are calculated only using fertility and mortality rates.
B) Intercensal estimates are made after the most recent census and rely on projections.

C) Intercensal estimates are population estimates between two censuses and are usually
more accurate than postcensal estimates.

D) Intercensal estimates do not use census data and are based solely on sample surveys.

If current fertility and female mortality rates prevail, then a group of newborn females
will exactly replace itself in the next generation if

A) Gross Reproduction Rate = 1
B) NetReproduction Rate =1
C) Gross Reproduction Rate > 1
D) NetReproduction Rate > 1

A district had 10,000 in-migrants and 6,000 out-migrants in a given year. What is the net
migration rate per 1,000 population, if the mid - year population is 2,00,000?
A) 10

B) 20
Q) 2
D) 0

Which of the following represents Logistic Population Growth Model (k, A and r being
the parameters)?

A P@)=Pe"
k
1+ de™
C) PO)=F+rt
D) P =k(1-4e™)

B) P®=

(72) (A) (20)




88.

89.

90.

g1

92.

93.

Which of the following relations between NRR (Net Reproduction Rate) and GRR ({5ross

Reproduction Rate) is true?
A) NRR>GRR

B) NRR=GRR+I

C) NRR+1=GRR

D) NRR<GRR

In an abridged life table, the column T denotes:

A)  The cumulative number of deaths in the cohort beyond age x.

B) The total number of years lived by the cohort from exact age x onward.
C) The life expectancy at birth.

D) The number of people entering age x.

A Completely Randomized Design (CRD) uses which of the following principlgs of

Design of Experiments?

A) Replication and Local Control

B) Local Control and Randomization

C) Randomization and Replication

D) Replication, randomization and L.ocal Control

A Randomized Block Design (RBD) with five treatments arranged in four blocks has
observations missing. The error degrees of freedom for this design will be

A 9

B) 10
& 1
D) 12

Suppose 6 treatments of a crop are to be compared. If the soil fertility changes along

two

WO

perpendicular directions which design would be the appropriate one to choose out of{the

following?

A) Completely Randomized Design (CRD)
B) Randomized Block Design (RBD)

C) BothCRDand RBD

D) Latin Square Design (LSD)

The total number of factorial effects in a 2° factorial experiment are,

A 32
B) 31
C) 16
D) 30

(72) (A) 21) [P.T.O.




94, For a 2° factorial experiment conducted in 2% blocks per replicate the total number of
confounded effects 1s out of which effects are independent and block
size is
A) (3,278
B) (2,1,16)

O 4238
D) None ofthe above

95. Consider a 2’ factorial design with three replicates each with two blocks. The arrangement
of treatment combinations in one block of each replicate is given below.

Replicate I Replicate I1 Replicate [11
Key Block (1), c, ab, abc (1), a, bc, abe (1), b, ac, abe
This is an example of confounding in which information about interaction

effect AC can be found.

A) (complete confounding, complete)
B) (partial confounding, one third)

C) (partial confounding, two third)

D) (complete confounding, no)

96. In a factorial experiment with two factors A and B at three levels 0, 1 and 2 each, the
quadratic effect of factor A at the three levels can be estimated by the contrast

A) A -2A A,
B) Az _AD
C) A +2A;-A,;

D) A £A—2A

97. Considera BIBD withv=b=11,k=r=6and 2 = 3. The intra block error degrees of

freedom for this BIBD is
A) 50
B) 56
C) 45
D) 66

(72) (A) (22)




98. Which of the following statements about split plot design are correct?
I. A splitplot design is a complete block design

II. A split plot design is an incomplete block design
IMl. Inasplitplotdesign, the whole plot factor (A), the sub factor (B) and the interaftion
factor (AB) are estimated with equal precision.

A) TandIII
B) MandIIl
C) Onlyl
D) Onlyll

99. The Latin Square Design is considered to be,
A) acomplete three way layout design.
B) anincomplete three way layout design.
C) anonorthogonal design.
D) None of the above.

100. In a Randomized Block Design, the mean sum of squares is a estimptor

ofthe error variance.

A) consistent but biased
B) unadjusted

C) unbiased

D) biased

(72) (A) (23) [P.TJO.
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(60)(A)

Which of the following is NOT considered a design feature of human language ps

proposed by Charles Hockett?
A)  Arbitrariness

B) Displacement

C) Duality of Patterning

D) Genetic Transmission

Match the linguistic theories of language origin with their basic premise:

Column - A
i)  Bow-Wow Theory

ii) Pooh-Pooh Theory
Yo-He-Ho Theory

iv) Ding-Dong Theory

Options:

A) i3, ii-l, iii-2,1v-4
B) i-1, ii-3, iii-4, iv-2
C) i-2, ii-4, iii-3,1v-1
D) i-3, ii-2, iii-1, iv-4

Which of the following are Saussurean dichotomies?

I.  Langueand Parole

II. Competenceand Performance
IIl. Signifier and Signified

IV. Synchrony and Diachrony

Options:

A) LILIV
B) LILII
C) ILLILIV

D) None ofthe Above

Identify the odd one out:
A) Referential Function
B) Emotive Function

C) Conative Function
D) Genetic Function

€))

1.

2.

Column - B

Language originated from instinctjve

cries and interjections
Language originated from musi
expressions and chants
Language originated by imitat
natural sounds

bal

ng

Language originated due to a mystjcal

connection between sound 4
meaning

nd

[P.I.O.




10.

Which anthropological theory links the origin of language with tool-making and brain
development?

A)  Gesture Theory

B) Evolutionary-Continuity Hypothesis
C) Bow-Wow Theory

D) Musical Protogram Theory

Consider the following statements:
Assertion (A): Language is autonomous in its structure.
Reason (R): Linguistic rules are independent of non-linguistic social and cultural

influences.

Options:

A) Both Assertion and Reason are true, and Reason is the correct explanation of
Assertion

B) Both Assertion and Reason are true, but Reason is not the correct explanation of
Assertion

C) Assertion is true but Reason is false
D) Assertion is false but Reason is true

The term "arbitrariness" in language refers to:

A)  The lack of direct connection between linguistic signs and their meanings
B) The ability of language to refer to things beyond the immediate context
C) The hierarchical structure of language units

D) The innate capacity of humans to acquire language

Match the following components of language with their correct examples:

i.  Phonology 1.  Study of sentence structure
ii.  Morphology 2. Study of sound systems

iii. Syntax 3.  Study of word formation

iv.  Semantics 4. Studyof meaning

Options:

A) 12, ii-3, iii-l, iv-4
B) i-3, 1i-4, i1-2, iv-1
O i1, ii-2, iii-3, iv-4
D) -2, ii-1, iii-4, iv-3

Which feature of human language allows speakers to talk about things not present in
time or space?

A) Productivity

B) Displacement

C) Duality

D) Reflexivity

Which among the following is NOT a unit of linguistic analysis?

A) Phoneme
B) Morpheme
() [exeme
D) Genome

(60)(A) @




11. Which of the following are functions of language as identified by Karl Biihler and Romgn

Jakobson?

I.  Expressive/Emotive
[I. Conative/Appellative
IM. Referential

IV. Genetic

Options:

A) LILIV

Bl LHLYY

¢ L

D) None ofthe Above

12. Which branch of phonetics studies the perception of speech sounds by the human gar

and brain?

A) Articulatory Phonetics
B) Acoustic Phonetics

C) Auditory Phonetics

D) Instrumental Phonetics

13. Match each organ of speech with its role:

i.  Velum (Soft Palate)
ii.  Vocal Cords

iii. Tongue

iv.  Glottis

Options:

A)  i-2, ii-1, iii-3, iv-4
B) i-1, ii-3, iii-2, iv-4
C) i-3, ii-2, iii4,iv-1
D) i-4, ii-1, iii-2,iv-3

14. Which of the following are suprasegmental features?

L Stress

II. Intonation

III. Place of Articulation
IV. Tone

Options:

A) LILII

B) LILIV

)y LIV

D) None ofthe Above

(60)(A)

©))

Vibrations producing voiced sour]ds
Directing airflow into oral/nasal

cavity

Primary articulator for vowels
consonants

Opening between vocal folds

[P.]
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15.

16.

17.

18.

19.

20.

Which of the following is an example of a minimal pair?
A) Pin-Pen

B) Cat-Dog

C) Chair - Chairs

D) Book - Notebook

Identify the odd one out:
A) Assimilation

B) Epenthesis

C) Metathesis

D) Synonymy

Consider the following statements:

Assertion (A): Generative phonology distinguishes between underlying and surface
representations.

Reason (R): Phonological rules transform underlying forms into surface pronunciations.

Options:

A) Both Assertion and Reason are true, and Reason is the correct explanation of
Assertion

B) Both Assertion and Reason are true, but Reason is not the correct explanation of
Assertion

C) Assertion is true but Reason is false
D) Assertion is false but Reason is true

Match the terms with their correct descriptions:

i. Onset 1.  Vowel or syllabic nucleus

ii. Nucleus 2. Optional consonants at beginning
iii. Coda 3.  Consonants after nucleus

iv. Rhyme 4. Nucleus+ Coda

Options:

A) i-2, ii-1, iii-3, iv-4
B) i3, ii-2, iii-4,iv-1
Q) i-l, ii-4, iii-2,iv-3
D) i-2, ii-3, iii-1,iv-4

Which phonological process is illustrated in the change from comfort /' kamfart/ —
comfortable /'kamftorbal/?

A) Elision

B) Epenthesis

C) Metathesis

D) Assimilation

Identify the odd one out:
A) Rising Intonation
B) Falling Intonation
C) Level Intonation
D) Bilabial Intonation

(60)(A) (6)




21.

22,

23.

24,

Which of the following languages are well-known for their use of tone as a distinctiye

feature?

.  Mandarin Chinese
II. Yoruba

IM. Japanese

IV. Thai

Options:

A) LILIV

B) LILIV

C) ILILIV

D) None ofthe Above

Consider the following statements:
Assertion (A): Intonation contributes to sentence meaning in English.

Reason (R): Rising intonation often indicates a question, while falling intonation sigtfals

a statement.

Options:

A) Both Assertion and Reason are true, and Reason is the correct explanatior
Assertion

B) Both Assertion and Reason are true, but Reason is not the correct explanati0+
Assertion

C) Assertion is true but Reason is false
D) Assertion is false but Reason is true

Which of the following best defines morpheme?
A)  The smallest meaningful unit of language
B) The smallest sound unit of language

C) A group of phonemes without meaning

D) A combination of syntactic rules

Which of the following are examples of free morphemes?

I.  Book
II. Teacher
III. Play

V. Un-
Options:

A) LII

B) LI

C): LI
D) LIV

of

of
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25. Match the following morphological processes with their examples:

i.  Derivation 1. Teacher

ii. Inflection 2. Dogs

iii. Compounding 3. Blackboard
iv.  Reduplication 4. Bye-bye

Options:

A) i-2, ii-3, iii-4, iv-1
B) i-1, 1i-2, 1i-3, iv-4
C) i-3, ii-4, iii-1, iv-2
D) i-4, ii-1, iii-2, iv-3

26. Consider the following statements:
Assertion (A): Inflectional morphemes never change the lexical category of a word.
Reason (R): They only provide grammatical information like tense, number, or case.
Options:
A) Both Assertion and Reason are true, and Reason is the correct explanation
B) Both Assertion and Reason are true, but Reason is not the correct explanation
C) Assertion is true, Reason is false

D) Both Assertion and Reason are false

27. Which of the following is an example of allomorphs?
A) Cat, dog
B) -sin cats, -es in buses, -en in oxen
C) Teacher, teaching
D) Go,went

28. Identify the words that involve derivational morphemes:
I.  Happiness

II.  Singing

IMI. Modernize
V. Walked
Options:

A LI

B)-+ LI

© Ll

D) ILIV

(60)(A) @®)
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30.

31.

32,

(60)(A) ) [P.T.O.

Choose the correct statements about morphological typology:

I Isolating languages show little or no morphology.

II. Agglutinative languages use affixes with clear boundaries.

. Fusional languages use morphemes that combine multiple meanings.
IV. Polysynthetic languages use long complex words with sentence-like meanings
Options:

A) LI I only
B) IlandIIlonly
) - ICIE BV
D) IandITonly

Find the odd one out:
A) Un-
B) Re-
C) -ing
D) Dog

Which of the following is NOT a characteristic of derivational morphemes?
A) They may change word class

B) They are less productive than inflectional morphemes

C) They always occur after inflectional morphemes

D) They carry lexical meaning

Match the morphological terms with their descriptions:

i.  Clitic 1.  Attached at the beginning

1. Prefix 2. Inserted inside a word

iii. Circumfix 3.  Surrounds a base morpheme

iv. Infix 4.  Function words behaving like affjxes

Options:

A) i-3, ii-1, iii-2,1v-4
B) i-2, ii-1, iii-4,1iv-3
C) i-4, ii-1, iii-3,1v-2
D) -1, ii-2, iii-3, iv-4

The word undrinkable has how many morphemes?

A 2
B) 3
C) 4
Py 5
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35,

36.

37.

38.

Which of the following is NOT a constituent test used in syntax?
A)  Substitution test

B) Movement test

C) Intonation test

D) Transcription test

Which of the following are considered functional categories in syntax?
I.  Determiners

I.  Auxiliaries

III. Pronouns

IV. Nouns
Options:
A) LI
B) LII
@) AL
1D 5 1L b

Match the terms with their correct descriptions:

i.  X-bartheory 1. Assigns semantic roles like Agent,
Theme

ii. CP(Complementizer Phrase) 2.  Explains hierarchical phrase structure

iit. Thetarole 3. Movement in passive sentences

iv. NP movement 4. Functional projection headed by
"that/if"

Options:

A) i-1, ii-2, iii-3, iv-4
B) i-3, ii-1, iii-4, iv-2
C) i-2, ii-4, iii-1, iv-3
D) -2, ii-3, iii-4, iv-1

In the sentence "The boy will eat the cake", which phrase functions as the complement
ofthe verb?

A) Theboy
B) Will

C) Thecake
D) Eat

Identify the sentence that violates the Binding Principle C:
A)  She likes herself

B) He likes John

C) John thinks he is clever

D) They praised each other

(60)(A) (10)
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40,

41.

42.

43.

Identify the correct statements about phrase structure rules:
I.  Theyarerecursive.

I. They can generate an infinite number of sentences.

IMl. They always have a finite output.

IV. They show hierarchical relations among constituents.

Options:

A) LILIV
B) LILIII
) LTV
D) LIIV

Which sentences involve raising constructions?
I.  John seems to like Mary.

I.  Ttis likely that John likes Mary.

[I. Mary appears to be happy.

IV. John persuaded Mary to leave.

Options:
A) LI
B)- I, 10
) S I
D) LIV

Which of the following is a transformational rule in Chomskyan syntax?
A) Agreementrule

B) Movementrule

C) Recursion rule

D) Projection principle

Which of the following are examples of adjuncts?
I.  Heleft in the morning.

II. Theymetatthe park.

1. John gave Mary a book.

IV. The boy in the corner is smart.

Options:
A) LIV
B) LII
C) ILIV
D) LIV

Which sentence illustrates a case of control, not raising?
A) John seems to be tired.

B) Mary is likely to win.

C) Johnpromised Mary to leave.

D) There appears to be a problem.

(60)(A) (1)
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45.

46.

47.

48.

Identify the sentence that does not involve wh-movement:
A) Who did Mary see?

B) Which book did John read?

C) Iwonder who left.

D) Mary likes John.

Which of the following is true of the Projection Principle?

I.  Lexical information must be represented at all syntactic levels.
II. Every NP must have a theta role.

IIl. Case must be assigned at D-structure.

IV. Movement must preserve theta roles.

Options:

A) LILIV
B) I, Ilonly
) AL TV

D) ILIMonly

Which of the following best describes denotative meaning?
A) The emotional associations a word carries

B) Theliteral, dictionary meaning of a word

C) Themeaning derived from speaker's intention

D) Themeaning inferred from context

In semantics, synonymy refers to:

A)  Words with opposite meanings

B) Words with similar meanings

C) Words with hierarchical meanings

D) Words that are spelled alike but differ in meaning

Match the following semantic relations:

i.  Hypernymy 1. Multiple related meanings of one
word

ii.  Hyponymy 2. A word with multiple unrelated
meanings

iii. Homonymy 3. "Rose"inrelation to "flower"

iv. Polysemy 4.  "Animal" inrelation to "dog"

Options:

A) -4, {i-3, iii-2,iv-1
B) -3, ii-4, iii-1,iv-2
Q) i-l, ii-2, iii-4,iv-3
D) i-4, ii-1, iii-3,iv-2

(60)(A) (12)




49.

50.

51.

52.

53.

54.

Which of the following sentences illustrates presupposition?

A)
B)
©)
D)

John stopped smoking.
John will smoke tomorrow.
John wants to smoke.

John might smoke.

Which of the following best describes componential analysis?

A)
B)
©)
D)

Breaking meaning into semantic features or components
Analyzing meaning only through dictionary definitions
Studying meaning only in context

Tracing the historical origin of word meanings

Choose the Odd one out (semantic anomaly):

A)
B)
)
D)

The bachelor is unmarried.
The rock is sleeping.

The sun rises in the east.
The baby is crying.

Match the semantic roles with the examples:

i.  Agent 1. The child felt happy.

ii. Patient 2. Theknife cut the bread.
iii.  Instrument 3.  Theman kicked the ball.
iv.  Experiencer 4.  The ball was kicked.
Options:

A) i-3, ii-4, iii-2,iv-1

B) i-1, ii-3, iii-4,iv-2

C) i-2, ii-l, iii-3, iv-4

D) i-3, ii-l, iii-2, iv-4

Which of the following best illustrates the concept of implicature?

A)
B)
©)
D)

"It is raining outside."

"Can you pass the salt?" (uttered at the dinner table)
"Paris is the capital of France."

"This sentence is false."

Which type of deixis is used in the phrase "that book over there"?

A)
B)
0
D)

(60)(A)

Person deixis
Time deixis
Spatial deixis
Discourse deixis

(13)
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55. Match the pragmatic concept with its example:

i. Deixis 1. "He stopped smoking" (Implies he
smoked before)

ii.  Presupposition 2.  "Here, take this"

iii. Implicature 3. "It'scold in here" (Meaning: close the
window)

iv.  Speech Act 4. "lapologize for being late"

Options:

A) -1, ii-2, iii-3, iv-4

B) i-2, ii-1, iii-3, iv-4

O i-4, ii-3, iii-2,iv-1

D) -2, ii-3, iii-1,iv-4

56. Violations of Grice's maxims may result in:

I.  Presupposition failure

I. Conversational implicature
II.  Ambiguity

IV. Politeness strategies
Options:

A LI

B) ILII

C) LY

D) INLIV

57. Which ONE of the following areas does NOT highlight the scope of ELT?

A)
B)
©)
D)

Development of communication skills
Promotion of linguistic diversity

Training for employability and global interaction
Exclusive focus on literary translation

58. Consider the following statements:

Assertion (A): Language Acquisition and Language Teaching are entirely independent
processes.

Reason (R): While acquisition is natural, teaching provides structured support.
Options:

A)
B)

)
D)

(60)(A)

Both Assertion and Reason are true, and Reason is the correct explanation of
Assertion

Both Assertion and Reason are true, but Reason is not the correct explanation of
Assertion

Assertion is true, but Reason is false
Assertion is false, but Reason is true

(14)
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59. Match the following concepts with their descriptions:

i.  Language Acquisition 1. Natural and subconscious proceps

ii. Language Learning 2. Formal and conscious process

i, ELT 3.  Pedagogical application of lingufistic
theories

iv.  Applied Linguistics 4,  Organized teaching of English

Options:

A) i1, ii-3, iii-4,iv-2
B) i-1, ii-2, iii-4,iv-3
Q) i1, ii-4, iii-2,iv-3
D) i-1, ii-2, i3, iv-4

60. Which theorist is most associated with the Input Hypothesis, central to linking
acquisition and teaching?
A) Noam Chomsky
B) Stephen Krashen
C) Lev Vygotsky
D) B.F. Skinner

61. Which of the following illustrate the importance of ELT in the 21* century?
I.  Enhances employability in global markets
II. Facilitates intercultural communication
Ill. Encourages linguistic imperialism only
IV. Provides access to scientific and academic resources

Options:

A) LILII
B) ILIOLIV
C) LILIV
D) LILIV

62. Which ofthe following skills are primarily emphasized in ELT?
A) Listening, Speaking, Reading, Writing
B) Memorization and repetition
C) Only grammar drills
D) Translation and rote learning

63. Which of the following best highlights the importance of language acquisitiop in
early childhood?
A) Itensures children never need schooling
B) Itallows mastery of basic communicative competence
C) Iteliminates the need for parental guidance
D) It guarantees multilingualism automatically

(60)(A) (15) [P.T.O.




64. Match the concepts with their descriptions:

i.  Critical Period Hypothesis 1. Language learned best before puberty

ii.  Input Hypothesis 2. Learning through repetition and
reinforcement

iii. Behaviorist View 3.  Comprehensible input is essential for
acquisition

iv.  Communicative Competence 4.  Ability to use language appropriately

in social contexts
Options:
A) i-1, 1i-3, iii-2,iv-4
B) -2, ii-l, iii-3,iv-4
C) i-3, ii-2, iii-1,iv-4
D) i-1, ii-4, iii-3,iv-2

65. Which of the following demonstrate the interconnection between Language
Acquisition and ELT?

I.  Using naturalistic input in classrooms
II. Rote memorization of grammar rules
IMl. Creating communicative situations

IV. Focusing only on translation

Options:
A) LI
B) I IO
€y il
D) ILIV

66. Which statements are true about the scope of ELT?
I.  Ttincludes curriculum design.
Il.  Itonly teaches spoken English.
IMI. Itincludes teacher training.

IV. It excludes research on learner errors.

Options:
A) ILIV
B) LIV
(33 8 1 LY
D) LI

(60)(A) (16)




67. Match theorists with their contributions:

i.  Chomsky 15
ii. Krashen 2
iii.  Skinner 9
iv. Hymes 4.
Options:

A) i-1, ii-2, iii-3,1v-4

B) i-2, ii-1, iii-4,iv-3

C) i-3, ii-4, iii-1,1iv-2

D) i-4, ii-3, iii-2,iv-1

Universal Grammar
Input Hypothesis

Behaviorism in language

Communicative Competence

68. Which of the following is the most essential component of effective communicatipn?

A)
B)
0
D)

Message
Noise
Feedback
Channel

69. Match the type of communication with its correct example:

Column - A (Type)

1. Upward communication i)
2. Downward communication il.
3.  Horizontal communication 1.
4.  Diagonal communication iv.
Options:

A) 14l 2-1, 3-iii, 4-iv

B) 1-i, 2-ii, 3-iv, 4-iii

C)  1-iii, 2-iv, 3-ii, 4-i

D) 1-v, 2-iii, 3-1, 4-ii

Column - B (Example)

Instructions to employees

Employee feedback to manager

Team discussions

Project manager to HR head

70. Which of the following is NOT a barrier to effective communication?

A)
B)
&)
D)

(60)(A)

Semantic distortion
Psychological noise
Active listening

Physical barrier

17)

[P.T.O.




71.

72.

73.

74.

75.

76.

Which of the following skills are essential for effective interpersonal communication?
. Empathy

II.  Active listening

IMI. Technical expertise

IV.  Clarity in expression

Options:

A) LILIV

B) LILIV
C) ILIonly
D) LILIOLIV

Consider the following statements:

Assertion (A): Communication in organizations is always formal.

Reason (R): Informal communication is discouraged in professional settings.
Options:

A) Both Assertion and Reason are true

B) Assertion is true, Reason is false

C) Assertion is false, Reason is true

D) Both Assertion and Reason are false

The Shannon-Weaver model of communication introduced which key concept?
A) Noise

B) Context

C) Feedback

D) Non-verbal codes

A manager gives a speech, but employees look confused. Which part of communication
failed?

A) Encoding
B) Decoding
C) Channel

D) Feedback

Which of the following best defines paralanguage?
A) Use of gestures and postures

B) Vocal cues like pitch, tone, and pace

C) Use of silence in conversation

D) Written style of communication

Match the listening type with its description:

Column - A (Type) Column - B (Description)

1.  Empathetic listening i.  Listening to evaluate content

2. Critical listening ii.  Listening to understand feelings
3.  Appreciative listening iii. Listening for enjoyment

4. Comprehensive listening iv.  Listening to understand meaning
Options:

A) -l 24, 3-iii, 4-iv
B)  l-iii,2-iv, 3-i, 4-ii
C) ldv, 2-ii, 3-iii, 4-i
D) 1, 2-iii, 3-ii, 4-iv

(60)(A) (18)




77. Which skill is most critical for effective intercultural communication?
A)  Empathy
B) Fluency in English
C) Persuasiveness
D) Assertiveness

78. Which of the following are functions of communication in organizations?
I.  Control
II.  Motivation
II. Emotional expression
IV. Information exchange

Options:
A) LILII
B) LILIV

C) ILILIV
D) LILIILIV

79. Which of the following are types of sociolinguistic variation?
I.  Dialectal
I Stylistic
IM. Idiolectal
IV. Morphological

Options:

A) LILIV
B) ILOLIV
C) LILII
D) LILIV

80. Match the sociolinguistic concepts with their descriptions:

i.  Code-switching 1. High vs. low language varietiep in
stable distribution

il.  Diglossia 2.  Alternation between two languag#s in
discourse

iii. Speech community 3.  Language use based on professiopal/
functional context

iv. Register 4.  Group of people sharing norm$ of
language use

Options:

A) i-3, ii4, iii-1,iv-2
B) i-2, ii-l, iii-3,iv-4
Q) sl =2, i, ive3
D) i2, iil, iii-4,iv-3

(60)(A) (19)
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82.

83.

84.

85.

The term "speech community" refers to:

A) A nation-state with an official language

B) A group sharing linguistic norms and practices
C) A classroom of learners

D) All speakers of English

Consider the following statements:

Assertion (A): Diglossia always involves two different languages.
Reason (R): Ferguson defined diglossia in relation to bilingual societies.
Options:

A) Both Assertion and Reason true, Reason explains Assertion

B) Both true but Reason does not explain Assertion

C) Assertion is false, but Reason is true

D) Both are false

Which features characterize pidgins?
I.  Limited vocabulary

[I. Absence ofnative speakers

III. Reduced grammar

IV.  Full literary tradition

Options:

A) LILIV
B) LILII
C) LILIV

D) None oftheabove

Labov's New York Department Store Study demonstrated variation based on:

A)  Gender

B) Race

C) Social class
D) Age

Match scholars with contributions:
i.  William Labov

ii. Basil Bernstein

iii. Joshua Fishman

iv.  John Gumperz

Options: '

A) -1, ii-2, iii-3, iv-4

B) i-4, ii-2, iii-1,iv-3

C) i-2, ii-1, 1ii-4,iv-3

D) i-4, ii-1, iii-3, iv-2

Language and social class codes
Ethnography of communication
Domain analysis in bilingualism
Variationist sociolinguistics

B =
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86. A register is defined as:
A) Individual speech habits
B) Socially prestigious dialect
C) Language variety associated with context/function
D) Anational language

87. Which are examples of sociolinguistic variables studied by Labov?
I.  Pronunciation of /r/ in New York
[I. Useofdoublenegatives
II. Vocabulary choice in science writing
IV. Tense/aspect markers in AAVE

Options:

A) LILII
B) LILIV
C) ILILIV
D) LILIV

88. Who introduced the concept of "restricted" and "elaborated" codes in sociolinguistiLs?

A) William Labov

B) Basil Bernstein
C) Noam Chomsky
D) Joshua Fishman

89. Match terms with examples:

i.  Dialect 1.  Teenagers'slang

ii. Idiolect 2. Southern American English
iii. Sociolect 3.  Medical discourse

iv.  Register 4.  Personal speech style
Options:

A) i1, -3, i, iva
B) i-2, ii-1, iii-3, iv-4
C) i-4, ii-3, iii-2,iv-1
D) i-2, ii-4, iii-1,iv-3

90. Which of the following is considered the most important principle of media writing

A) Complexity of language

B) Objectivity and accuracy

C) Personal opinions of the writer
D) Use of technical jargon

(60)(A) (21)
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94.

95.

Which of the following are elements of the inverted pyramid structure in news writing?
I.  Most important information first

I.  Least important details at the end

IM. Chronological storytelling always

IV. Supporting details in the middle

Options:

A) ILIOLIV

B) IILII

G DY

D) ILLIV

Match the following terms with their descriptions:

i.  Editorial 1.  Presents the newspaper's opinion
ii. Feature 2.  In-depth human-interest story

iii. News report 3.  Straightforward factual account
iv.  Column 4. Regular opinion piece by a writer

Options:

A) -1, 1i-2, i1i-3,1v-4
B) i-4, ii-1, i-3,1v-2
C) i-4, ii-2, iii-1,iv-3
D) i-3, ii-l, iii-2, iv-4

Which style guide is most commonly followed in media writing in the United States?
A) MILA

B) APA

C) AP (Associated Press) Stylebook

D) Chicago Manual of Style

The five W's and one H formula in journalism stands for:
A)  What, Who, Where, When, Why, How

B) Word, Work, Write, Win, Who, How

C) Who, Why, When, Which, Whose, How

D) What, Where, Who, Whom, Why, How

Which of the following are types of media writing?
I.  Press release

II. Research thesis

II. Investigative report

IV.  Advertisement copy

Options:

Ay LILIV
B) LILIV
) T 1 (41 1
D) ILILIV

(60)(A) (22)
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98.
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100.

Match the types of leads with their descriptions:

i.  Summary lead 1. Answers SW+H in opening sentence
ii. Anccdotal lead 2.  Begins with a short story

iii. Question lead 3.  Starts with a rhetorical or direct quest
iv.  Quotation lead 4.  Starts with arelevant quote

Options:

A) i-1, ii-2, iii-3,iv-4
B) i-4, ii-1, iii-3, iv-2
C) 14, u-2, iw-l,1v-3
D) -3, ii-1, iii-2,iv-4

Which ofthe following is a key difference between news writing and feature writi
A) News writing is opinion-based, feature is fact-based.

B) News writing is immediate, feature is timeless or evergreen.

C) News writing uses literary style, feature avoids it.

D) News writing ignores facts, feature emphasizes them.

Which are ethical considerations in media writing?
I.  Truthand accuracy

II. Balance and fairness

IMl. Respect for privacy

IV. Plagiarism

Options:

A) LII

B) ILILIV
C) IO

D) LILII

Which of the following best defines a press release?

A) A paid advertisement in the newspaper

B) An official statement issued to media for public dissemination
C) A personal blog entry by a writer

D) A confidential report meant for internal circulation

Match the media format with its primary function:

.  News report 1. Inform

II.  Editorial 2.  Persuade

OL Advertisement 3. Sell/Promote
IV. Investigative journalism 4. Expose
Options:

A i2, i3, iii4, iv-1
B) -1, ii-2, iii-3, iv-4
Q) i4, ii-l, iii-2, iv-3
D) i3, ii4, iii-l,iv-2

011
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D) YBH &%, WIHSAT &

THeIt 936 el afesT fauz T a<t J -
A) JOHY R HAET

B) < EBES

C) Y. Hos fAw

D) It <9 fRw

‘TrHest & fags 3 ufas” URST T Ul  :
A) HI&HS

B) df<eg =t

C) AAR<3 AW St

D) I<TES<S
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62.

63.

64.

65.

&t 87 gAs g% I AYHY
a 83 ot gx

®Y JIgte’ HAEST ©
Ignft 3 7 US| HIT' IS
A) rifsTUisH

B) Y. Hus fAw

C) 3 <9 fAw

D) ©es fRw & ust

31 WS €A .
A) Y35 AW - HY feer a9
B) #AS3 dE - S5 €1 I3
C) fae gy - Jag

P~

D) uH - 73 A feg

Aot 1 gt 2
1) Bg IHT diesr ) fags
2) St e fors ) Hoe
3) fmft ye vimis 1) 38
4)  wfarat i 1v) frvgs
Buda3 Adt He €A ;

(1) (2) 3) 4)
Aj T 11 111 \Y
B) IV 111 Il I
Gy I 1% 11
D) 1I 1% | 111

f&03 te feg Adnt URSS HoHI® I it I% 7
A) WisEIT, IH IET, UU Fe|

B) UU &%, Udl %3, ATEx %3S AT Hd Bt
C) Udr »i3, HIH & niy, as a7

D) Ffex %36 AT AT Hdl, BIA €1 niy, WU oe|
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66. AdT HS T :
A) I3 fRu fega - aaH3
B) <fom™H AY - Ja1 SHR
C) A3 fAwAY - Afeg 3 qr
D) A fRW - a3af € €3

67. =f53 §3& § U 396 =% ST T ?
A) BuAE
B) 3de3 IHBYS!
C) nriaféeg oS
D) FAI93

68. Hus AW YRS ‘A< U39 © WY 3e fan & fsfunr

69. &=% feg @ 7 ¥ 3 frer feoth et & fea AN nifarR €t dRardt & far
A J :
A) T8
B) fewiar
C) fussss
D) 3578

70. ‘Age” UH Yy <t fan goet € usg T ¢
A) T3 nEfgar
B) U fafanr
C) A<3E9 & faur Hl
D) Hae
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71. ‘NMfSASHEIBH (3% 5 T S T :

72.

73,

74.

75.

A) famrst fos fiw

B) =< ¥y fAW

C) THEH

D) TI& AW

a3 U3 & AJT AN® ©H
A) BIAC - JAGT
B) gzt & nfar - dter
C) IEx T TH - A3t
D) FaE - 319

&2& M3 FEaAd T At THES & |
get 1
1) dJ999s fAw
2) W3 fAw Ay
3) uJoeH fAY
4) FIHHD
Budaz Adt He € :
(1) (2) 3) 4
A) IV I I I
B) II W% I 11
ol I 111 v
D) I I IV 11

get 2
) guEg
) I7 UgH
[ll) UJH Id
V) &g

‘forfan T ot THIE &7 sed & Bud I -

A) ASHTIH
B) dJ&fen® fiw €%
C) M3
D) EHeg 9Td 3T

feaialt 3 U39 & AJt IS oA :
A) g famadt - JI&H
B) HJ@I - 7t
C) &< I8 - A3&™H
D) fHet & ger - Y3y

(70) (A) (17)
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76.

77

78.

79.

80.

STH AFE o HAg3 f3az awes argdt @ fan aea feg fuset T |
A) Tddn A%3E

B) A®UEd

C) NG H BS

D) Tt <t i

fefsam fHfaom »3 e9rFs 7% Fau3 &<d faAe I6 ?
A) AIm3 fhw ASt 2

B) d9996 fRW 2

C) AeIwHN e

D) YT AW UiHE €

ﬂgé’arﬁaﬁ*ﬁaﬁiﬁwzaﬂaafegﬂgz?é‘uﬁmﬁ:
A) B3 fAw RSt &

B) d9HIs fRW &

C) ASIHHNG &

D) FYI AW wiHE =

“fetar figaT 3 AUST e @ AT T |
A) YEIRSE 5B

B) dWRE &%

C) YdSie® a8

D) WIAISTE 6%

‘%Js’ T ‘Hoar feaidft gfunr
Ay 1913
B) 1912
C) 1914
D) 1915

(70) (A) (18)




81.

82.

83.

84.

‘TIBI’ B ‘Taws HIT TIIE & FIW fams ez ?
A) 3. gfieg fAw ufgar
B) 3. 3Ja% fAw fie

C) 3. Af3ea fAw
D) 3. Af3Tg ey
‘A3 3t fegs 3 3o s v ful e meter afe qu I ¢
A) HE
B) fraat
C) Tt
D) dnaT
‘Haet & figr drre € fan 839 feg HAgT 3 ?
A) HER feg
B) WS few
C) g feg
D) T8 3 HS feg
gt 1 get 2
1) fre T afos ) W=
2) dat e afgar 1) frare U
3) & @ afgar 1) 3
4) dJ9ESs T qfaET IV) He®!
Budaz ATt e ©A :
(1) @ €) 4)
A) 1 \Y% 111 11
B) I 11 I Y%
€&y -1 1 111 Y
D) I I IV 111
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85. Unardt Bauar fepe aF’ T I8 J ¢
A) Hfdes fRw Sae
B) &J9 AW
C) »d. A 2us
D) H.A.SSAT et

86. fenmg feg ust T96 €t IAH 3= a9er d ?
A) 3T
B) M
C) HH
D) 3=l

87. Afgwrargt feg feuat, gret, HAaraT € Teted & yfafonr & faar aer J

A) Fg-RAfgnag
B) Rfgdiags
C) HAfgmEdiadE
D) AT
88. Hel 1 get 2
1) BUT T H& ) s
2) JT9 BY T HE ) HIBIGCH
3) TS HIH Ill) »deys Afag
4) Huft T RS IV) H&3AT Afag
Budas Fdt g ©R
(1) 2) 3) “4)
A) IV 01 11 I
B) I 1l 11 1\
C) I I I IV
D) I 10 A% I
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89.

90.

91.

92.

ug 3t fAst T a% o
g3 faet @ fonmenf
& & Jfbert T3alt 1S 3
feghot ya Gt
gouT A g9 &

farz forz Ayt Sretort
B i3 & gU 39! faH Hal 5% A¥u3 J 7
A) fenrg

B) i

c) fis=

D) H®

‘Bse ol e T :

A) ddit 3% framer H% Uit 9 &
B) ug § u'E BEt 8t IiF fest A
C) d9r yow vy 99 faR &

D) SYHM Has

393t »i3 feHt gTa=T dnit Farad Ieaet € nigeTE a9n 3 fagrfenn :

A) uUAH! geteatAet ufenmsr &
B) I fegmar yAg &

C) ®H&® g 2Re fesr 3
D) Budas f3at & Tt

‘“ar fett fefamrs w3 Jardl A9’ YRS € 3ux 3

A) 3r9 fAw

B) 3. fumg fAw

C) wufdeg fAw fefenrgst
D) 3. uoH fiw
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93.

94.

95.

96.

97.

Ry feg U S 83 g€ 9 ¢

A) un fen €3 fan g3t w3t few aH iz 77 AR |
B) YA €96 AHT AHAIGT § A6, g€ 3 It & &dr 34 |
C) ud ferfozs feg mifanrfe nisre det 99 |

D) Budas f¥ar aga ot |

‘A UATe’ S € U I
A) WM&dd

B) JIHIS WS

C) JwH9 €3

D) AIH3 feg<t

UISTH 2 UTTH AfI3 & HAS YRS T AU J :
A) Iofenrs fRw 38

B) %A ydl

C) dfeg g=t

D) dJgue fRu St

UgTTH! BYd AE96 96 993 Iy fam R &% ASfas J ¢
A) BT

B) II3dmMr

C) wHIa

D) U

ferm fagst € AyT € fersrE ena" AHaH TRUTS! & feguz a9s €t 9reT <
fedt § afde o& :

A) foae feat

B) wmaHe fegt

C) wigATS fedt

D) Hzw<t fent
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98. fefemmaet 3 nuzt 33 & yAsa &3z feg ATEl ge7 4 :
A) IATHE
B) JEIH AIHS
C) f3amadt
D) Budaz fed ot &t

99. SI¥3 T9x HEl Agat I
A) HEII
B) fort fost use
C) YAs U3d
D) Sudas AW Tt

100. At €A ;
A) B B A niuEt uduTr migAg g%e Uer g
B) 87 v ferfe3 fAuiz Jer 3
C) ﬁ?ﬁﬁm@ﬁﬁ,ﬂﬁ,m@m@m@qu@m%ﬁm@fw&@
gE UT T6
D) A et dg fAgis adt der
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LECTURER - (10+2) A
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(77)

Time Allowed: Two Hours Maximum Marks: 100
INSTRUCTIONS

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN PR
MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

2.  Please note that it is the candidate’s responsibility to encode and fill in the Roll Number
and Test Booklet Series Code A, B, C or D carefully and without any omission or discrepagey
at the appropriate places in the OMR Answer /Response Sheet. Any umissinn!discrepaIcy
will render the Response Sheet liable for rejection.

3. You have to enter your Roll Number on the
Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet.

4.  This Test booklet contains 100 items (questions). Each item comprises of four responses (answefs).
You will select the response which you want to mark on the Answer Sheet/Response Sheet. In case
you feel that there is more than one correct response, mark the response which you consider [the
best. In any case, choose ONLY ONE response for each item.

5.  You have to mark all your responses OINLY on the separate Answer /Response Sheet provided. pee
directions in the Response Sheet.

6. All items carry equal marks.

7. Before you proceed to mark in the Answer /Response Sheet, the response to various items in fthe
Test Booklet, you have to fill in some particulars in the Answer /Response Sheet as per instructipns
sent to you with your Admission Certificate.

8.  After you have completed filling in all your responses on the Response Sheet and the examinalfaon
has concluded, you should hand over to the Invigilator only the Answer /Response Sheet. You are
permitted to take away with you the Test Booklet and Candidate’s Copy of the Response Shept .

9.  Sheets for rough work are appended in the Test Booklet at the end.

10. While writing Centre, Subject and Roll No. on the top of the Answer Sheet/Response Sheet in
appropriate boxes use “ONLY BALL POINT PEN”.

11. Penalty for wrong answers:

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY THE
CANDIDATE IN THE WRITTEN TEST (OBJECTIVE TYPE QUESTIONS PAPER}'

()  There are four alternatives for the answer to every question. For each question for whigh a
wrong answer has been given by the candidate, (0.25) of the marks assigned to that questjion
will be deducted as penalty.

(i)  If acandidate gives more than one answer, it will be treated as a wrong answer even if one ofjthe
given answers happens to be correct and there will be same penalty as above for that questiop.

(i) Ifaquestion is left blank, i.e., no answer is given by the candidate, there will be no penalty{for
that question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO
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1. Who was the author of 'Chaturdandiprakashika?
A) Pt. Somnath
B) Pt. Shrikanth
C) Pt Vyankatmakhi
D) Pt Shrinivas

2. Which of the following was also known as 'Raga Geeti'?
A) Gaudi
B) Vegswara
C) Shuddha
D) Bhinna

3.  Which Taal has 'Taali' on the 9" maatra?
A) Tilwada
B) JatTaal
C) AdaChautaal
D) Ektaal

4. How many varieties of 'Swar' were mentioned by Bharat Muni?
A) 3
B)
C)
D)

LY I o

5. How many ragas have been described by Ahobal in 'Raga Prakaran'?

Ay 175
B) 150
C) 264
5) il

(77) (A) 3)
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6. Who of the following was a Thumri composer?
A) Mohammad Shah
B) FirozKhan
C) NyamatKhan
D) Wajid Ali Shah

7.  InNatyashastra, with which 'rasa' has been mentioned to be associated with Dhaivat swar?

A) Veebhatsa

B) Shringar
Oy \Vece
D) Roudra

8. How many matra-s are there in Gaj-Jhampa Taal?

A) 14
B) 15
€y 17
D) 18

9.  Which ofthe following Veena-s have been called as 'Anga' by Bharat?
A)  Vipanchi and Chitra
B) Vipanchiand Ghoshak
C) Chitra and Kachchhapi
D) Kachchhapi and Ghoshak

10. 'Patah’'was
A) A variety of Gamak
B) AnAngaofPrabandh
C) AnAvanaddh instrument
D) ASushir Vadya

(77) (A) @




11.

12.

13.

14.

15.

According to Pt. Bhatkhande, the Vadi - Samvadi of raga Alhaiya Bilawal are -
A)  Gandhar - Dhaivat
B) Pancham - Shadja
C) Gandhar - Nishad
D) Dhaivat- Gandhar

Which of the following has been mentioned by Bharat as - 'swartaalpadaatmakajn'?

A) Geet

B) Gaan

C) Gandharva
D) Dhruva Gaan

To which category of the instruments does 'Wasul' instrument belong?
A) Ghan

B) Avanaddh

C) Sushir

D) Tat

To which gharana of Tabla did Ustad Allarakha belong?
A) Farrukhabad

B) Punjab
C) Dilli
D) Ajrada

Which Veena had 9 strings?
A) Mattakokila

B) Vipanchi

C) Chitra

D) Ghoshak

(77) (A) 5
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16. 'Vanvun'is a part of the folk music of -

A) Rajasthan

B) Bengal
C) Kashmir
D) Manipur

17. Which 'Thaat' does raga 'Shuddha Sarang' belong to, according to Pt. V. N. Bhatkhande?

A) Khamaaj
B) Bilawal
C) Kafi

D) Kalyan

18. In which of'the following instruments, animal skin is used?

A) Sitar
B) Kartaal
C) Sarod
D) Algoza

19. Which of the following sequence of 'Shruti-s' in descending order is correct?
A) Ranjani, Raktika, Roudri
B) Kshiti, Preeti, Marjani
C) Upgraa, Madanti, Rohini
D) Ramya, Rohini, Madanti

20. Jagadekmalla was the author of -
A) RagaTarangini
B) Sangeet Makarand
C) Sangeet Chudamani
D) Geet Govind

(77) (A) (6)




21. Which swar in Hindustani music corresponds to 'Chatuhshrutik Rishabh' of Karn
music system?

A)
B)
&)
D)

Komal Rishabh

Shuddh Rishabh
Komal Gandhar
Shuddh Gandhar

22. Which of the following in Hindustani music resembles 'Slur' in western music?

A)
B)
®)
D)

Khatka
Zamzama
Meend

Krintan

23. The number of major Taal-s in Karnatak music system is -

A)
B)
C)
D)

9

9
5
3

24. Match List - I with List - IT:

List - I; Hindustani Thaat-s

L.
A5
3
4.

Bhairavi
Asawari
Kalyan

Bhairav

Choose the Correct Option:

A)
B)
&)
D)
(77) (A)

1-1,2-111, 3 -1v, 4 -1i
1-iv,2-1,3-1i1, 4 -11
1-1iii,2-1,3-1v, 4 -1i
1-i,2-1iii,3-1i,4-iv

(M

tak
List - II: Karnatak Mela-s
1. Nat Bhairavi
ii. Mayamalavgaul
iii. Hanumat Todi
iv.  Mech Kalyani
|P.T.0.




25. 'Kaishik Nishad' in Karnatak scale can also be called as -

A)
B)
O
D)

Chatuhshruti Dhaivat
Shuddh Dhaivat
Shatshruti Dhaivat
Shuddh Nishad

26. Which of the following instruments belongs to 'Avanaddh' category?

A)
B)
9
D)

Saranda
Dardur
Manjira

Algoza

27. Who of the following belonged to Maihar Gharana?

A)
B)
0
D)

Ustad Rais Khan

Ustad Alauddin Khan
Ustad Vilayat Khan
Ustad Halim Jafar Khan

28. These are two statements:

i.

ii.

According to Bharat, there were seven 'Shuddha’ Jaati-s in ancient times.
Out of these, three Jaati-s belonged to 'Shadja Gram' and the other four belonged to
‘Madhyam Gram'.

Which of the above statements is/are correct?

A)
B)
0
D)

(77) (A)

Both statements are correct.
Both statements are wrong.
(1) is correct, but (ii) is wrong.

(1) is wrong, but (ii) is correct.
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29.

30.

3l

32.

33,

34.

Who was the Guru of Pt. Bhimsen Joshi?
A)  Ustad Abdul Karim Khan

B) Pandit Vinayak Rao Patwardhan

C) Pandit Balkrishn Buwa Ichalkaranjikar
D) Pandit Sawai Gandharva

How many varieties of 'Nishabd Kriya' of 'Marg' Taal have been mentioned in 'San
Ratnakar'?

Ay =2
B) 3
@) A
D) 6

Which taal has Khali on the eighth beat?
A)  Sooltaal

B) Tilwada

C) Deepchandi

D) AdaChaartaal

How many strings were used in Chitra veena?

A 1
B) 2i
) 3
Dy 7

Which treatise was authored by Naarad?
A)  Geet Govind

B) Sangeet Makarand

C) Sangeet Chudamani

D) Raga Tarangini

How many varieties of 'Yati' have been mentioned by Pt. Sharangdev?
A) 5

B) 4
&) 3
D). 2

peet

(77) (A) 9 [P.T.0.




35

36.

2

38.

39.

40.

How many varieties of 'Gamak' have been described by Pt. Sharang Dev?

A) 21
B 7

G 15
) TS (o

Which Thaat does raga Malkauns belong to?

A) Kafi

B) Asawari
C) Bhairavi
D) Khamaaj

On which shruti is 'Pancham' swar fixed in modern 'Shruti-Swar' system, given by
Pt. V.N. Bhatkhande?

A) Alapini

B) Sandeepani
C) Rakta

D) Kshiti

Which 'mela’ in Karnatak music corresponds to Kafi Thaat in Hindustani music?
A)  Shubhapantuvarali

B) Kharaharapriya

C) Kaamvardhani

D) Kambhoji

How many Giti-s were mentioned in Brihaddeshi?

A 7
B) 5
Q) 4
D) 6

How many Mela-s were mentioned by Pt. Lochan?

A) 12
B) 13
o) 19
D). 23

(77) (A) (10)




41. Who was the author of 'Pranav Bharti'?
A) Pt.Narayan Rao Vyas
B) Pt. Krishn Rao Shankar Pandit
C) Pt.Omkarnath Thakur
D) Pt. V.N. Bhatkhande

42. Who of the following had adopted the pen name 'Sabarang' in his compositions?
A) Ud. Abdul Karim Khan
B) Ud. Vilayat Hussain Khan
C) Ud.FaiyazKhan
D) Ud. Bade Ghulam Ali Khan

43. Who was awarded 'Bharat Ratna' in the year 1998?
A) Pt. Ravishankar
B) Ud.Bismillah Khan
C) Smt. M.S. Subbalaxmi
D) Ms. Lata Dinanath Mangeshkar

44. Who of'the following is considered to be the first Tabla exponent?
A) Ustad Bakhshu Khan
B) Ustad Allarakha Khan
C) Ustad Siddhar Khan
D) Pandit Ramji Sahay

45. What was the division of Shruti-s in Madhyam Gram?
A) 4-3-2-4-4-3-2
B) 4-3-2-4-3-2-4
Q) 4-3-4-2-4-32
D) 4-3-3-3-4-2-3

(77) (A) (11) [P
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46. Who was the author of "My music —my life'?
A)  Ustad Zakir Hussain
B)  Pt. Shiv Kumar Sharma
C) Pt.Ravi Shankar
D) Ustad Amjad Ali Khan

47. Which of the following is the correct practice of 'Bahuttwa' of a swar in a raga?
A) BylLanghanand Abhyas
B) ByAbhyasand Alanghan
C) ByAnabhyasand Alanghan
D) ByAnabhyasand Langhan

48. 'Chhakri' is the folk musical form of which state?
A) Bengal
B) Odisha
C) Kerala
D) Kashmir

49. Who was the author of 'Geet Govind'?
A) Someshwar
B) Jaidev
C) Shrikanth
D) Madhav Bhatt

50. Who was the Guru of Girija Devi?
A) Pt. Bade Ramdas
B) Pt. Shrichand Mishra
C) Pt.Gopal Mishra
D) Pt. Chhote Ramdas

(77) (A) (12)




51. Who was also known as 'Gudai Maharaj?

A)
B)
0
D)

52. Who ofthe following had proposed the theory of 'Dwadash Swar Moorchhana'?

A)
B)
©
D)

Pt. Kishan Maharaj
Pt. Birju Maharaj
Pt. Samta Prasad

Pt. Jasraj

Narad

Acharya Matang
Pt. Sharangdev
Acharya Bharat

53. Inhow many Mela-s have different ragas been classified by Pt. Vyankatmakhi?

A)
B)
C)
D)

19
17
36
23

54. The number of Jati-s of Taal in Karnatak music is -

A)
B)
)
D)

-~ W A

55. Which of'the following ragas has Pancham as 'Vadi' swar?

A)
B)
©
D)

(77) (A)

Jaijaiwanti
Kamod
Gaud Sarang
Deshkar

(13)
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56. 'Sannipaat' is a variety of -

A)
B)
)
D)

57. Which of'the following ragas has been classified under Kafi Thaat by Pt. Bhatkhande?

A)
B)
Y
D)

58. Whichraga is derived by the moorchhana of Pancham swar in raga Bhoopali?

A)
B)
&)
D)

Laya
Taan
Sashabd Taal Kriya
Nishabd Taal Kriya

Gaud Sarang
Chhayanat
Shuddh Sarang
Malkauns

Madhmad Sarang
Durga

Deshkar
Malkauns

59. Inwhich year was' Swarmelakalanidhi' written?

A)
B)
®)
D)

1610
1550
1650
1660

60. Which swara-s are the Vadi - Samvadi of raga Bihag?

A)
B)
0
D)

77 (A)

Pancham - Shadaj
Nishad - Gandhar
Gandhar - Dhaivat
Gandhar - Nishad

(14)




61. Which ofthe following ragas does not have 'Komal Dhaivat' swar as Vadi swar?

A) Bhairav
B) Jaunpuri
C) Basant

D) Gujri Todi

62. Which taal-s have 'Khali on the 9" maatra?
i.  GajJhampa
ii.  Sooltaal
iii. Ada Chautaal
iv. Tilwada
Choose the Correct Option:
A) 1iandiv
B) i and iii
C) i, 1ii and iv

D) i, ii, iii and iv

63. Which of the following is not an 'Audav-Audav' raga?

A)  Deshkar
B) Malkauns
C) Pooriya
D) Durga

64. What does 'Kaal' refer to?
A)  AngaofPrabandh
B) PraanofTaal
C) Maseetkhani Gat
D) Aalap

(77) (A) (15)

[P.]

LO.




65. Which ofthe following raga has 'Kanhada anga'?

A)
B)
9
D)

Bhimpalasi
Kafi
Bahaar
Bageshri

66. With which instrument was Pt. Nikhil Banerji associated?

A)
B)
©)
D)

Tabla
Sitar
Pakhawaj
Sarod

67. Match List -1 with List-II :

List - I : Vocalists

1. AlladiyaKhan

2.  Bade Ghulam Ali Khan
3.  Vilayat Hussain Khan

4. Vilayat Khan

Choose the Correct Option:
A)  1-iii, 2-i, 3-iv, 4-ii

B) 1-iii, 2-iv, 3-1, 4-ii

C) 14, 2-11, 3-111, 4-1v
D) 1-ii, 2-v, 3-1, 4-iii

List - II: Gharanas of Khyal

L.

ii.

1il.

iv.

Agra Gharana
Jaipur - Atrauli Gharana
Imdadkhani-Etawah Gharana

Patiala Gharana

68. How many ragang-s has Pt. V. N. Bhatkhande included in Kafi Thaat?

A)
B)
9]
D)

(77 (A)

3

4
5
6

(16)



69.

70.

71.

72.

73,

Who of the following used the pen name as 'Adarang' in his compositions?
A) BhupatKhan

B) FirozKhan

C) Sharafat Khan

D) Niyamat Khan

Which taal-s have equal number of maatra-s?
A)  Chautal - Deepchandi

B) Tilwada - Gaj Jhampa

C) Ektaal - Sooltaal

D) Tewra-Roopak

How many shruti-s did Nishad swar have in 'Gandhar gram'?

A) 4

B) 3
oI
D) 5

Which moorchhana of Shadja Gram began with Madhyam swar?
A) Uttarayta

B) Ashwakranta

C) Abhirudgata

D) Matsarikrita

The number of ragas mentioned in 'Sangeet Ratnakar' is -
A) 125
B) 224
C) 264
D) 289

(77) (A) (17)

[P.T.0.




74. 'Which ofthe following was the pen name used by Ustad Faiyaz Khan in his compositions?
A) PranPiya

B) Akhtar Piya
C) PremRang
D) Prem Piya

75. Which Moorchhana belonged to Madhyam Gram?
A)  Shuddh Madhya
B) Shuddh Shadja
C) Matsarikrita
D) Ashwakrania

76. When was 'Raga Tattwa Vibodh' written?
A) 19" Century
B) 18" Century
C) 17%Century
D) 16" Century

77. What is represented by 'o’ symbol in writing taal-s in Karnatak music system?
A) Plut
B) Drut
C) Gunu
D) Kakpad

78. Find the odd one out of the following:
A) Hameer
B) Kedar
C) Ramkali
D) Chhayanat

(77) (A) (18)



79. Identify the Taal-s with different sections having unequal number of maatra-s in their

Theka?
i.  AdaChautaal
ii.  Jhaptaal

1ii. Sooltaal

iv.  GajJhampa

Choose the Correct Option:
A) iandiil

B) iandiv

C) iiandiv

D) iiand iii

80. Which of'the following is a 'Sandhiprakash' raga?
A) Pooriya
B) Jaunpuri
C) Multani
D) Bhimpalasi

81. Which of the following ragas does not belong to Kalyan Thaat?

A) Bhoopali
B) Bihag
C) Chhayanat

D) Gaud Sarang

82. How many 'Jati Lakshan-s' have been stated by Acharya Bharat?

A 33
B) 10
o 13
D) 15

83. How many 'Jaati-Lakshan' have been mentioned in 'Sangeet Ratnakar'?
A) 10

B) 12
£ 1
D) 15

(77) (A) 19) [P.1.0.




84. How many lines were used in a 'Grand Staff' in Staff notation system?

A 5
B) 9
o |
o) 15

85. Which symbol is used below a swar to depict 'Khali' in Pt. V. D. Paluskar's notation

system?
A)-
B) +
& o
) SR

86. Consider the following Statements:

Assertion: Agra gharana of Khyal Gayaki is one of the prominent gharanas in Hindustani
music.

Reasoning: Great stalwarts like Ustad Faiyaz Khan, Ustad Vilayat Hussain Khan and
Pt. Jagannath Buwa Purohit trained many disciples and propagated this style of
Khyal singing.

Which of the above statements are correct?
A) Both the assertion and reasoning are correct, and the reasoning explains the assertion.

B) Both the assertion and reasoning are correct, but reasoning does not explain the
assertion.

C) The assertion is correct, but the reasoning is incorrect.

D) The assertion is incorrect, but the reasoning 1s correct.

87. Which ‘Laya’ is depicted by the numerical expression of 5/4?

A) Paun Gun
B) DedhGun
C) Kuaad
D) Biaad

(77) (A) (20)




88. Inwhich year was Pandit Ravishankar awarded the 'Bharat Ratna'?

A) 1999
B) 2000
C) 2001
D) 2002

89. Which of the following is a folk - dance form of Kashmir?

A) Lalnavun
B) Ladishah
C) Ruf

D) leela

90. Which of the following is played with a pair of small, curved sticks?
A)  Surnai
B) Santoor
C) Chang
D) Sarinda

91. Which of the following ragas have same set of swara-s used in their different melodjic
structure?

.  Hameer

ii.  Chhayanat

iii. Shyam Kalyan

iv.  Gaud Sarang

Choose the Correct Option:
A) i,iiand iii

B) iiiland iv

C) i,ii andiv

D) i, ii, iiiandiv

(77) (A) (21) [P.T{O.




92. Find the odd one out of the following:

A)
B)
&)
D)

Maarawa
Pooriya
Yaman
Sohni

93. Which ofthe following raga-s has Madhyam swar as 'Vadi'?

A)
B)
9
D)

Bihag
Ramkali
Jaijaiwanti

Bhimpalasi

94. Which of'the following raga-s has Rishabh swar as 'Samvadi'?

A)
B)
9
D)

Alhaiya Bilawal
Kamod

Yaman
Bhupali

95. Which Taal-s are not used for accompaniment with Drut Khyal?

L
ii.
1.

Iv.

Ada Chautaal
Tilwada
Ektaal
Deepchandi

Choose the Correct Option:

A)
B)
O
D)

iand i1
i1 and iii
iandiv

iland iv

96. Inwhich century was 'Sangeet Parijat' written?

A)
B)
®)
D)

(77 (A)

15" century
16™ century
17" century
18" century

(22)



97. Which vocal form is always accompanied by Jhaptaal?

A) Tappa
B) Hori

C) Trivat
D) Saadara

98. Who of the following is the creator of "Tappa'?
A)  Ghulam Rasool
B) Ghulam Gaus
C) Ghulam Mohammed
D) Ghulam Nabi Shori

99. Which of the following ragas is a 'Parmelpraveshak' raga?
A) Bhairav
B) Jaijaiwanti
C) Puriyadhanashri
D) Bageshri

100. How many Vikrit swar have been mentioned in 'Sangeet Ratnakar'?

A) 7
B) 9
pae b
D) 22

(77) (A) 23)




